Downloaded from www.gmaths.in

cpaPRAL INTELLIGENCE (Wi,

go_ 000 HIRCWIHEE 10 0,000 In what firme

v g e will a0 prmownte 1o To00°
tf TR

¢ gd & 10000 @ A E 1 teoo Y
yard mavs 3 toon @
(" 3 yests /3 Ga

o0
W
pe, fitit) # E

of@ 3 TE
(W) 7 s [ 8 "

{he M

T (D) 6 years /6 5%
() 3 ¥ b

aptinte " P, e
Ir" e Inllowing Four guestions, select the missing
n .

puniber from the goven responses

mzmama&z}fzwmﬁm%#
g 13 10

7 12 9

o 15 7

(A)? (H) 19
©) 8 (h) 12

(B) o

©) 12 D)8
I N

4 2 3

2 16 8
(4) 35 (B) 10
©)1 (D) 12

{ 4 § '\‘
- 3 @ an () {7}
i -._-‘{: il

(% |
B 3 )

(A) 80

(®) too
C) 78
G () 23

Directions ;

It i

“i‘;ae ﬁ‘!kwwmt_ Three questions 4 eriet it giver
f'(:m :;: ‘fr-m MIEsing. Choose the correct alternativ
. EIven ones that will complete the series

ﬁim:f?rmnm#ﬁmmmfzmi
RVt O 92 4t 1 Ry e Rt A 3 e

e ?jﬁﬁ A }!’ﬁm E S Sty &Y )
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(A) WG (B) GW

(C) HW (D) Wit

7. 1,16.81. 256,628, ?

——a

(A) 4163 (B) 2225

(C) 1225 (D) 1296
8. 1,5,13,25,41,61, 7

(A) 81 (B) 91

Directions :
In the following Nine questions, sclect the e
word letters/number from the given alternatives.

fadw : fomfataa 9 weat A, 2w v e
wrafrud e 3R HEn # giAv

9. 4:36:: 7 :49
(A)3 (B)7
(€6 (D)8

10. CEIM :DGLQ::FGIO: 7
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(A) GlLg

(B) Gmg
(©)GLIg

(D) Gmg)

11, : i
Heart - Cardm]ngisl “!Brain, 9

< FaNer ﬁ?ﬁ%: : aﬁ;{;-_ ©09
(A) Ncphro[ngisl S
THF 0T Ry
(B) Neurologisl
AT Rremety
(©) Ophlhalmologist
T T Rramedy
(D) Gynaccologist

& 0T R

12. GFEH - RQPS::LKJM. »

(A) ONMP ;g,‘LKNM

(C) Vuwx (D) IHIG

13. HUK : GFED : . NOPQ: ?

—_—

(A) EFGH (B) BCDE

(C) FDEC (D) MLKJ
14. 235:587::435: 2

(A) 788 (B) 988

(C) 789 (D) 989

15. Car: Garrage:: _? :Hangar

FR e 2 e

(A) Bus (B) Aeroplane
oes ) fasr=r
- D) Train
(C) Truck (
o 1 EC LI
16. 17:102::23: 7
(A) 413 (B) 216

(©) 112 (D) 138

- I "
17 Governor : State : : President : _——

(A) Country

18.

TSUIIT : sy« « qregafey -

(B) District
Al

(C) Constituency
faraa-e

(D) Organisation
IS

Directions : . e the
In the following Three questions. a’arm"yg
following words as per order in the diction .

Rrdr : =i 3 waat 3 ereal #1 AEPR
ferw 1w 5o & v o

1. Intervention 2. Intertwine

3. Interview 4. Intervene

(A)4,3,2,1 (B)2,3,4,1

(€)2,4,1,3 (D)3,4,1,2

19. 1. Smoulder 2. Smother

3. Smuggle 4. Smudge

(A)2,1,4,3 (B)4,3,2,1
(©) 1,4,3,2 (D)1,2,3,4
20. 1. Plate 2. Plane
3. Plaster 4. Plasma
5. Plastic

(A)1,2,3,4,5 (B)2,5,3,4,1

(©)2.1,5,3,4 (D)2,4,3,5,1

Directions :

In the following Two questions, which one get of
letters when sequentially placed at the 8aps in th
given letter series shall complete it? ¢

ﬁﬁr:ﬁmﬁ@azwﬁﬁmmmm
wmmwmﬂwﬁaaﬁ
HER AWAT Y QU F[m
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C - —

. :;b o (B) aabba

(A) abPYE

© cbaba (D) bbaac
. Ty Y- yxzx _ &YX~ Xy

;/() )".\‘;yz (B) yzxyX

(©) xyz&Y (D) zxyzY

i d punched as shown
ioce of paper 1S folded an :

. ch‘:\icicn thepqucstion figures. From the given answer
figures, indicate how it will appear when opened. "
A e  x frTe FEEN F
Frga 3&A adl g ¥ e a8 e 3 Eicac]
Sy R &

Question ﬁgqrcs:
e il
|

)
N

Answer Figures:

P

(C) (D)

Directions :
In the following Nine questions, find out the odd

word/letters/number/ number pair from the given
alternatives.

frdar : ATl 9 weat #, v 1w Rawedt # &

farye regy/3TETAEAHEAT oA I «

Find out the odd pair.

fawA oA HI gfe:

(A) Brush-Paint / - (B) Pen-Ink / Or-Tardy
@1

(C) Crayon-Chart / farideir — o€

24,

(D) pencil-Lead / T - a8
25. Find out the odd word
fyA e P13
(A) HAMAM / &1 (B) CINTHOL / M
(C) PEARS | A (D) RIN / Ry
26. Find out the odd letters.
fawa 3BT 1 g
(C) CAP (D) PET
27. Find out the odd letters.
Py 37T T T :
(A) STUA (B) MLKA
©) HGFA (D) RQPA

28. Find out the odd number pair.

FawaT AT GIH T AT
(A)57-73 (B) 12-21
() 15-41 (D) 34-43

29. Find out the odd word.
frwaT ereg, 1 AT :

(A) Crane §RY (B) Kingfisher sifgeen

(C) Humming bird ##X (D) Sparrow AT
qefr

30. Find out the odd number.

fawe T 1 g
(A) 368127 (B) 564327
(© 742956 (D) 876321

31. Find out the odd letters.

10896
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R s 3y g
(A) ADG) (B) IMQU
(©) wzcr (D) LORU

32. Find out the odd number pair.
&Aoo &y gieve :
(A) (24, 96) (B) (61, 244)

(C) (54, 216) (D) (27, 135)

Directions :

In the following Two questions, unscramble the
letters to form a meaningful word. Then find out the
correct numerical position of the letters.

ﬁﬁr:ﬁmﬁ@azm#ﬁmﬁmm%
%tr WRT N FARACC | g9 R B owd
AT Rl s iy |

NITIFEIN
24543642

(A)24324256

33.

(B)32535246

(©)32435246 D)42342456

3. HNRCAB
123456
(A)356412 B)635241
(©)653412 D)415623

35. A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given
below. The columns and rows of Matrix 1 are
numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its
column, e.g., M can be represented by 01, 10 etc.,
and A can be represented by 56, 65 etc. Similarly,
you have to identify the set for the word ROD.

U g Hael U WEA-THF eanT auiiam =
S fr faet & @ PRl T 3 R o B

i
O

e )
[

Aa s | b |-
~lo|wn]|#

(A) 56, 66, 86

(C) 58, 69, 65

in the
36. Which answer figure will complete the pattern

question figure?

Fiel B SecR Il WA A F o 31
A

Question figure:

A ATHI:

i

Answer Figures:

I G -

(A) (B)

Y
© (D)

=

37. Four positions of a dice are given belgy
5
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jon Wi and point?
ction will the hour han
¥ | oty BT H g5 @ #1 3

R A watch 1
which dire

(A) South

zfeyor I~
(C) North (D) South-West
I =

39, If a mirror is placed on the line MN, then whicp of
the answer figures is the right image of the given

figure?

a2 tF g9ur & MN v o) 7T 9L @ & T
mmﬁﬁmma@ﬁmay@ﬁf@r

M
4|
) ~
N
@ )

. (B)
i,

40. !demify the answer figure from which pieces given
in the question figure have been cut.

ﬁmmmmmm;{ 3“3;%#
A E S

Question figure:
\'LZal :

QQD

Answer Figures:
4

FIa{
(A) (B) jg
©) (D)

41. Find out the incorrect term in the series.

ai@mﬁmqawaﬁﬁm
2,5, 10, 3, 6,18,4,7, 30

(A) 6 (B) 30

(©) 10 (D) 7

42. In the question, two statements are given followed

by two conclusions I and II. You have to consider
the two statements to be true even if they seem to be
at variance from commonly known facts. You have
to decide which of the given conclusions, if any,
follow from the given statements.

Statements I : Creative persons are learned people.
II : Some doctors are creative persons.
Conclusions I : Some creative persons are learned
people.

II : Some learned people are doctors.

mﬁﬁammmgmmﬂaml
iR R T E 'mm?ﬁ?mm
mmma%mmmﬁam
aEt & R 59 & FU g e e
0 | + G AT R SR g e
11 : 505 Sfere, orefTestd St T & |
foread 1 : F GoAe® St (9aa safad
AAE |
11 : e Riege s St g |
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(A) I
(B) Neither Inor 17 &Y 1 IRTAU
©1 (D)1& 11

43. In the question, two statements are given. You have
to answer considering the statements t

if they seem to be at variance
known facts.

Statements I : Plants grow from seeds.
II : Seeds are produced by flowers.

et A & e oA T E | sy Ry a1 et Y

HI AR A6 T AT et st v 2y g,
IR AR |

Fuql: AT Az
I1: IS el A 3T @ E |
Conclusion / fors¥ ;

(A)

o be true, even
from commonly

Seeds are produced by plants. st ot I
ITAET R |

Flowers and seeds are produced by plants. et
AR e dielt F SRR |

Plants grow from flowers. e T F IR |
Flowers are produced by plants. er gttt &
N

FUeT B § |

(B)

(®)
(D)

44. Raghu jogged 2 km southwards, then he turned right
and walked 5 km. He again turned right and walked

and jogged 8 km. In which direction was he seen
moving last?

g & 2 km gfaior ferm & &g eng a9 g a
ASHT 5 km Tl | F5 T @ a1 FzaT Tar 3R 8
km glg oS | 3q #F T8 he R & T @
fear?

(A) West / qfeas (B) South / gfgyor

(©) East / q@i (D) North / 3ea¥

45. If in a certain code ONE is coded as 231, FIVE is
coded as 9641, then how will be NINE coded?

I R F2 # ONE & 231 for@n airar €, FIVE
FT 9641 fr@r oiam & @ NINE & &0 foar

STTIm?
(A) 3613 (B) 3361
(C) 3631 (D) 3316

46. Select the set of symbols which can be fitted
correctly in the equation.

& et &1 9egg gfee ot weietor & v fse
T ST EF |

5 3 8 4 2=2]
(A) =y &5 +’+ (B)X,+,—’—'r
(C) +9 Xy = o (D) +s X, +9 e

47. Identify the diagram that best represents the
relationship among classes given below:
Library, Books, Racks

a6 3T AT S A e o1w @it & &g deer

e [Avgur Har g -
(B) .

TEIHT, T, 36
"©

"€9

48. If PNLJ : 2468, then QOKL : ?

gfe PNLJ : 2468, dT QOKL: _?

(A) 3591 (B) 1276

(C) 1376 (D) 1367

49. Five students are standing one behind the other in the
playground facing the instructor. Malini is behind
Anjana, but in front of Gayathri. Meena is in front of
Shena, but behind Gayathri. What is the position of
Meena?

qre o e H AR He WH T g & 9
Her T # @S gUE | Afert, 35 F 9 & Afher

I & AR & | HAT, AT F 37T § AR ey
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FASE | e F AT F Y
(A) Second from last

sifam ¥ gEd
(B) Second from first
Tgel § g@d
(C) Extreme first (D) Extreme last
e el Rrergper 3ifarr

50. If a means +, b means X , ¢ means +, d means —,
then 20a10b45c¢5d12 = ?

TR admHT+E bFIT <G camanf & da
3rF - &, @Y 20a10b45c5d12 = 2

(A) 88 (B) 98

©) 74 (D) 68
&O+onq§%5’ = § o
c},*"lfo 7L =% ?:/"o
90+ 177" 5

Test Form N
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PART-II : EN i
GLISH LANGUAGE Did the Earth always (j) as it does today ? No, (i) its
- ) origin about 4.8 billion years ago, our planet has (iii)
irections : _ a lot of changes. The initial ball of fire (iv) down and
In the following l':‘our Que§t|ons, a sentence/a part the surface slowly (v) solid. Today we (vi) that the
of the Sentence is underlined. Below are given Earth's crust is divided (vii) several plates, (viii)
?ltematwes to the underlined part which may move continuously. Entire continents (ix) been
Improye the sentence. Choose the correct displaced and mountains, islands (x) new seas have
alternative. In ‘case no improvement is needed been formed or have disappeared.
blacken the “c.lrc]e [®] corresponding to “*No | 55. (viii)
improvement™” in the Answer Sheet . (A) who
3 B m
51. There were times in his life when he struggled for Sl
one square meal a day. :
(A) he struggled one day for food. el (D) whose
(B) he keeps struggling for meals.
(C) he struggled with one square meal a day. 56. (vi)
(D) No improvement (A) have known (B) know
52. Let you and I go together. (C) knew (D) had known
(A) No improvement (B) my
, 57. @
(C) mine (D) me ®
(A) looks (B) look
53. Each and everyone of you are guilty of some crime (C) looked (D) looking
or the other.
(A) Everyone are guilty
B) Eachand each of il = B
ach and each of you are gui
(B) ) ¥ Bty (A) or (B) but
(C) No improvement
(D) Each and everyone of you is guilty (C) so (D) and
54. He summarily dismissed what his son told him in a
fit of rage. 59, (vii)
(A) In a fit of rage he summarily dismissed what his (A) on (B) to
son told him.
(B) No improvement (C) into (D) in
(C) He summarily dismissed in a fit of rage what his
son told him.
(D) What his son told in a fit of rage he summarily | 60 (iii)
dismissed. (A) undergone (B) undergo
Directions : ) (C) underwent (D) undergoes
In the following Ten Questions given below in the
following passage, some of the words have been left
out. Read the passage carefully and choose the 61. (v)
correct answer to each question out of the four _
alternatives and fill in the blanks by blackening the (A) turned (B) turning
appropriate circle [®] in the Answer Sheet.
(C) has turned (D) turn
9
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62. (iv)
(A) cools (B) cooling
(C) cooled (D) cool
63. (ii)
(A) from (B) after
(C) since (D) before
64. (ix)
(A) has (B) are
(C) have (D) had

Directions :

In the following Four Questions, out of the four
alternatives, choose the one which can be substituted
for the given words/sentences and indicate it by

blackening the appropriate circle [®] in the Answer
Sheet.

65. One who sells articles at public sales.

(A) juggler (B) milliner

(C) auctioneer (D) teller
66. A partner in crime

(A) accomplice (B) helper

(C) assistant (D) alibi

67. A general act of forgiveness or pardon.
(A) emancipation

(B) amnesty

(D) gratification

68. A place where arms and weapons are stored,
(A) kiln

(B) granary

- (D) tannery

10

(C) are growing well,

(A) No error

Directions :

In the' following Four Questions, choose the v
opposite in meaning to the given word and Mmark i?‘:d
the Answer Sheet. i

69. Mammoth

(A) Stupendous (B) Monumenta]
(C) Prodigious (D) Minute
70, Cautious
(A) Watchful (B) Alert
(C) Careless (D) Thoughtful
71. Abhor
(A) Miss (B) Mad
(C) Love (D) Hate
72. Dubious
(A) Assured (B) Double
(C) Easy (D) Demise

Directions :

In the following Four Questions, some parts of the
sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the
circle [®] corresponding to the appropriate correct
option. If a sentence is free from error, blacken the

circle [®] corresponding to "No Error" in the
Answer Sheet.

73. The flower and the vine are growing well,
(A) No error

(B) The flower

(D) and the vine

74. Forty minutes later James return to his family

bearing an important piece of news.
(B) Forty minutes later

(C) bearing an important piece of news.

Test Form No. 1089653
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(D) James return to his family 6. and fasting four weeks once a year.

A) RQPS B) SQRP
75. Tutankhamun’s death mask is still untarnished after ® P
thirty four centuries.
C) SPQR D) RSQP
(A) Tutankhamun's death mask e A

(B) after thirty four centuries.

(C) is still untarnished 80. 1. England’s Cath Webb

P. with her resolution

Q. to make a sponge cake every day for a year
R. hit the headlines in January

S. and give it to a friend, family member or stranger

(D) No error

76. 1jumped with the opportunity of going to Kashmir.

(A) No error (B) I jumped 6. just to make them smile.
_ ) (A) SPRQ (B) RQSP
(C) of going to Kashmir. (D) with the opportunity
(C) SRPQ (D) RPQS

Directions :

In the following Four Questions, the 1 * and the last

Directions :
part of a sentence are numbered 1 and 6. The rest of

77.

the sentence is split into four parts and named P, Q,
R and S. These four parts are not given in their
proper order. Read the sentence and find out which
of the four combinations is correct. Then find the
correct answer and indicate it in the Answer Sheet.

1. A social network is

In the following Four Questions, sentences are given
with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each
question. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
circle [®] in the Answer Sheet.

81. T have no riches.

P. provides a clear way of analyzing

Q. a set of actors and the (A) desire to (B) desire for
R. a social structure made up of
S. dyadic ties between these actors (C) desirous of (D) desire of
6. the structure of whole social entities.
(A) RQSP (B) SPRQ
82. A warm reception was him.
(C) PQRS (D) QSPR (A) given for (B) allied to
(C) allotted to (D) accorded to
78. 1. Some people seem to imagine
P. and that when you have filled it with anything
Q. and it becomes as empty 83. The doctor the woman that her son would
R. that the human mind is like a bottle recover. :
S. you pour it out again
& Zs it r:vas hefore . (A) assumed (B) assured
B) PRS .
() PRs (B) Q (C) ensured (D) insured
(C) RPSQ (D) RSPQ
84. He is only an director in the organization but
he does his work sincerely.
79. 1. T?w: pilgrimage to Mecca ¢S Tt (B) honorific
P. giving alms
Q. recognizing Allah as the only God .
R. is one of the five religious duties of each Muslim (C) honorary (D) honourable
S. along with praying five times a day
11 Test Form No. 1089652
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Directions :

In the following qu Questions, a sentence has been
given in Direct/Indirect Speech. Out of the four
alternatives suggested, sclect the one which best
expresses the same sentence in Indirect/Direct
Speech and mark your answer in the Answer Sheet.

85. The maid confessed to the police that it was she who
had taken the diamond ring.

(A) The maid said, "I have stolen the diamond ring."

(B) The police were told, "I have taken the diamond
ring."

(C) The maid told the police, "It is I who have taken
the diamond ring."

(D) The maid said, "It is I who took the diamond
ring."

86. My father said to me, "Go now".
(A) My father ordered to go now.
(B) My father ordered me to go then.
(C) My father ordered me to go now.
(D) My father ordered me to go later.

Directions :

In the following Four Questions, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the

Answer Sheet.

87. Malady
(A) Lady (B) Parody
(C) Disease (D) Melody

88. Luxuriant

(A) Lovely (B) Lush

(C) Class (D) Luxurious
89. Despair

(A) Distress (B) Hopeless

(C) Disrupt (D) Discourage
90. Languid

(A) Luxurious (B) Lively

(C) Lethargic (D) Spirited

Directions :

In the following Four Questions, four words ar
given in each question, out of which only one Worz
is correctly spelt. Find the correctly spelt word an¢
mark your answer in the Answer Sheet.

91. Find the correctly spelt word :
(A) Diminutiv (B) Diminutive

(C) Dimenutive (D) Diminuitive

92. Find the correctly spelt word :
(A) Bougenvillea (B) Bouganvella

(C) Bougainvilla (D) Bougainvillea

93. Find the correctly spelt word :
(A) Occurrence (B) Occurrance

(C) Occurance (D) Ocurrance

94, Find the correctly spelt word :
(A) Courteus (B) Courtious

(C) Courteous (D) Courtoeus

Directions :

In the following Four Questions, four alterna
are given for the Idiom\Phrase underlined. Ch
the alternative which best expresses the meanir
the Idiom\Phrase and mark it in the Answer Shex

95. A Wild Goose Chase
(A) a baseless effort (B) a desperate effor

(C) a good effort (D) a useless effort

96. To eat humble pie.
(A) to have a low estimate of oneself
(B) to pretend to be humble
(C) to act apologetically (D) tostarve

12 Test Form No. 108
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97. Men like Vidyasagar and Bhagat Singh are the salt
of the carth.

(A) famous men (B) idcal men

(C) hardworking men (D) makers of the carth

98. There was a definite element of fabrication in the
story, but he believed the account hook, line and

sinker.
(A) not wholly (B) hardly
(C) completely (D) a little bit

Directions :

In the following Two Questions, a sentence has been
given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active Voice
and mark your answer in the Answer Sheet.

99. Was the question answered?
(A) Were they answering the question?
(B) Did the question get answered?
(C) Was the answer to the question given?

(D) Did they answer the question?

100. He may have left a message for me.
(A) A message may have been left for me.
(B) He might have left a message for me.
(C) A message might be left for me by him.
(D) A message may have been left for me by him.

13
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PART-111 : QUANTITATIVE APTITUDE (8WT-111
., g )

Directions :
Read it carefully and answer Five questions.

Total cost of production of a firm is T 250 lakh.
Following pic—chart shows the percentage of costs
of production in different purposes.

Letters A, B, C, D represent the following :

A = Cost of raw materials

B = Cost of packing materials

C = Cost of labour

D = Maintenance cost

forder : G YR ¢ IR RT TS et

IR gl
vE T & 3cdTesT T Hel AT X 250 T ¥

fr=faf@a o8 a9 § (s w&besr J
IqTE AT T TfaRIAar G2is TS 1

3&W A,B,C,D =ifoi@a & RefRaada g :
A = FT ATA 6T dRTT

B = dfeer AT 1 AT

C = 5H T AT

D = 3{eIRET0T ST

w

If the cost of production doubles in a period of 3
years, then the corresponding maintenance cost in

rupees will be

Ife 3 awt # IedresT oRId gILe & Sl &, ar
WWWWWM‘?

(A) 275 1akh / 375 1@ (B) 725 lakh / 325 A1@

101.

(C)12.5 lakh / X12.5

o9 g

102. Cost of packing materials and raw materials

together amounts to

et wmeralt 3R Fex AT B F FHAER AR

farasir 2
(A)R175 lakh / %175

(D)%125 lakh / %125

(B) %137.5 lakh / X137.5

[S1EC] o
(C)87.5 lakh / X875 (D)T162.5 lakh / T1qp ¢
Siecy e '

103. If the production increases to five times of th
present cost, then the percentage increase of the
cost is ¢

e SEE TAAA AT T 91 AT 9 e 3,
ar s i $r aferaar

(A) 400% (B) 50%

(C) 300% (D) 500%

104. If the total maintenance cost increases from %125
lakh to T50 lakh, then the percentage increase of the
maintenance cost is

IfE Tl IRETOT ART X12.5 WG F TG 350
AW B S &, Y IERETT eed # Ry §
FIGKGEIE

(A) 75% (B) 300%

(C) 25% (D) 400%

105. If the packing cost increases by 2%, then the n
packing cost will be

IfE AfFer deTa 2% S S &, @ A f
AT fohctet g1ef?

(A) 5 lakh/Z5 oM@ (B)%63.75  lakhR6:
o
(C)T 125 lakhR125 (D)R62.5 lakhR
o o™

106. One—fifth of half of a number is 20. Then 20
that number is

fordll T&AT & MY T giaar B 20 gl ¢

AT HT20% §
(A) 40 (B) 80
(C) 60 (D) 20

Directions :

Study the following histogram and answer tl
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questions.

YR - PO Rt o sy g g | T TS
fewaw 4 et @ ser (A) 190 210
A (B)
60 +
C) 200 220
nT s04 ] © (D)
s Fa0+t
-y - oqual 10
& 3 30t 1. A discount series of 10%, 20% and 40% is €4
3_ 20 - a single discount of
2% 04 10%, 20%31\;40%@@1—»;@@1%6?“ T &
' & SUET §7
0102030 40 50 60 70 80 90 100 (A) 50% (B) 60%
Marks Obtained
B e (C) 60.28% (D) 56.8%

107. The percentage of students securing marks

50is
50 ® FH IF U I ad Reaiia &
ferrerar g -

less than

A &
® 2524, ® 23
i T
<) .13 D) ._13
Qjﬁ% 4/_2_1%

108. The no. of students securing marks in the range 90

—100 is
90 —100 & &Iy 3ieh TToe et aTel faefeiay &
TEaTg

(A) 40 (B) 30

(C) 20 (D) 10

109. The range of marks obtained by maximum no. of
students is

AF FEr A E?

(A) 50 —60 (B) 60 —70

(C) 80 —90 (D) 30 —40

110. The total no. of students on whom this survey was
made is

o7 Rt i et HEA fohelet ¢ Foret AT

112. AB is a diameter of a circle having centre

15

at0.Pis

: A
a point on the circumference of the circle. 1f £ PO

=120°, then measure of 2 PBO is

AB U gcct 1 50T ¥, vt S5 O ¥ P
oRftr | v fig ¥ af 2 POA = 120° g s
PBOHTHATE

(A) 70° (B) 60°

(C) 68° (D) 75°

113. Average age of seven persons in a group is 30

years, the average age of five persons of this group
is 31 years. What is the average age of the other
two persons in the group?

Wagqﬁmwﬁ?!ﬁiﬁr%aqao a¥ g,
34 99 & uie =gt i e g 31 99§
9 & 3 &Y ATt 1 et 3y Rraeh &2

(A) 26 years / 26 @Y (B) 55 years / 55 a§

(C) None of these / 3737 ¥ A &Y
(D) 15years/ 15 af

114. The LCM of two numbers is 12 times their HCF
The sum of the HCF and LCM is 403. If one of 1
number is 93, then the other is

o FEanl 1 TAH WA 39 Tpeqy
wmémmlzqm%lmwmémm
agmamaa&a:rwmgmfam#m
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s 93 &, & G HEAT T 42

(B) 124
(A) 120

D) 112
(©) 116 (

ixture of copper and aluminium, 30% is
il ll;‘ow much aluminium powder SllOElld lu;
cggp;r-to the mixture so that the proportion o
adde
copper becomes 20%?

- & 2 fp.am. fAsor 7 30% atar
i 3R TRt
%) za BT A e ug‘i‘hﬁﬂw qm‘s'roam
et ST TRT FSraRy e T HereT 20% g
Se?
(A) 1000 gms / IJTH

115.

(B) 800 gms / ITH

(C) 900 gms / ATH (D) 1200 gms / Im#

i hs income in four
an spends his three m-ont '
e go?ths time. If his monthly income is ¥1,000, then
his annual savings is

oF cafFd 3 i FE 6T 3T Y R AT
FETFar el IfE 3THr AT 3T 71,000 §, ar
sghraf¥E aad e

(A) 29,000 (B) 24,000

(C) %6,000 (D) %3,000

i in the ratio 2 : 3 : 5,
7. If the angles of a triangle are in t : |
. then the measure of the least angle of the triangle is

aﬁua;ﬁa;aam‘rvrz:3:5'q"331§tnaﬁ%,a‘r

RSt & eTgecTat IoT &1 AT &
(A) 90° (B) 36°
(C) 20° (D) 18°

118. A man rows to a place 60 km distant and back in 13
hours 30 minutes, He finds that he can row 5 km
with the stream in the same time as he can row 4
km against the stream. Find the rate of the stream.

U afFd 60 .. T &l TR AT AT STl
& 3R 13 6 30 fRete & arq anar &) o5 &ward

%agm%mmmﬁsﬁam.m

%ﬁaﬁwﬁagw%mﬁ4ﬁaﬁr.mm

& s Ay A Y
(A) 8 kmvhr 8 f.38r. 9y gy
(B) 10 km/hr 10 fo5. Y. 9fy et
(© v knvhr v Re.#AY, 9RY gy
() 1 km/hr 1 R348, 9RY gey

119. 15 men can fi
takes 24 wom
and 8 women
they will take

T H HY 1S 959 20 Rt 3% o7 o wa &
Wﬁ?ﬁmﬁﬂﬂﬁmﬁzoﬁaﬁﬁwm
€110 959 3R 8 ARETY 3 ok oy Py Fo o
T HE?

(A) 10 days /10 fogy

nish a work in 20 days, however it
en to finish it in 20 days. If 10 men
undertake to complete the work, then

(B) 30 days / 30 fey

(€) 20 days /20 fogy (D) 15 days / 15 fay

120. BE, CF are the two medians of A ABC and G is

their point of intersection. EF cuts AG at O. Ratio
of AO : OG is equal to

A ABC & gy ATtg® BE, CF § 3% G zom
qﬁmmfﬁ‘gm EF O W AG &I Freed &)
3TN AO : OG forges s &2

(A)2:3 (B)1:3
©3:1 Md1:2
S If a+l=—Lthen the value of
a

(1-a+a*)}1+a—a?)is

afg a+-1- =-1g, ar (1—a+a2)(1+a—a:)$r
a

AAT
(A)1 (B) —4
(©0 (D) 4
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122. The weight of a container comple | .
water ‘is 2.25 kg_. The comainc[: \\,ceiyglg“(c)d—, ;vn'h
when “: 0.2 part is filled with water. The weight :\ig
kg) of the container when 0.4 part of i ; \n
water, is part of it is filled with

mm#mmmwmns fram. ¥
T & 0.2 3T 3 ST 9 B W 3HHT 71wt 0,77
%,m.mmaxo.fmmﬁaﬂmaﬁwm

ofd
AT
w3t e e § ot ey BT S o

ser ¥ g s o & 15
fraw g AT@EHEm
(A)

-
1 hour25 — min.

13

1 ger 25 lﬁmz
T [ TR, g 13
B -
(A) 0.74 (B) 0.40 ® 1 hour 26 le'm.
© .14 (D) 1.88 1 92T 26 -Z—;ﬁmz
3
©) 7

123. The time required for a sum of money to amount to
four times itself at 15% simple interest p.a. will be

Teh UIRY 15% Sicia 3 WUROT saret R Ry
FAA H IR T[T &Y S0

1 hour 24 —l; min.
13
; 7
1der24 —fA=e
13
(D) 7

7
1 hour27 — min.
(A) 15 years / g (B) 30 years / a A
: 7
19e127 — @Ase
(©) 20 years / q§ (D) 10 years / a§ B

127. Which one of the following is true ?
124. ABC is a triangle in which £ A =90° . Let P be any

: . P ld A A B WA &7
point on side AC. If BC = 10 cm, AC = 8 cm and 05
BP =9 cm, then AP = (A i>l>i>_5_ s 2 3 {16
ABC Teh Taqer & ol 2 A = 90° &, At o B ) 23737 T 05<3<3%igs
ACHST P RS RGHIAABC=10om AC=8 | (0} 5 3 4 ® 7,3.3
cm 3R BP =9 cm ¥, AT AP = 5737373 TR A
(A) 2.f3cm (B) 3.f5cm
128. If x=asecf+btanfandy=atan @ +bsec® (@aF
O 13 (D) 2 _
© "‘6 o 2\{5 S b), then the value of '_Y.‘_i.\-is
a -b”
. . afgx=asecf+btan ¥Xy=atan®+bsec§
125. The value of sec* A(l—sin®A)—2tan”Ais 5 4 d
. - N | x —}’
sec* A(l-sin? A) - 2tan’ AT AE R o T
(A)0 (B)1 A1 (B)2
(€)2 (D) % ©) 1 (D)0
B

126. A man rows 12 km in 5 hours against the. stream,
the speed of current being 4 kmph. What time will
be taken by him to row 15 km with the stream?

129. A vendor purchased 40 dozen bananas for 2.
v safRd i v 3 e & 12 R gl s

Out of these 30 bananas were rotten and could

be sold. At what rate per dozen should he sell
remaining bananas to make a profit of 20949
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et ¥ 40 ESfeT &Y 250 ¥ WhE| 3oy @y
?ﬁ@@ﬁmﬁwaﬁmmlwm
;ﬁﬁgﬁ;mﬁwmwmmm

20% HT AR E?
) %6 (B) T8
(
(©310 (D) %12

; sited a sum of money with a bank on 1

130, fwmdag,ep‘z)mz at 8% simple intel:st per annum.

Jm;geiv:ed an amount 33,144 on 7 August, 2012.
;{;ermoney he deposited with the bank was

IRfawe A TP GeRINRT 1 Sievady, 2012 @y §a 3
8% aTfie FTURYT SATeT T X § forder &, 33y
23,144 Fr UIRY 7 379T%, 2012 FY FF F grog
g5 1 301 fohcietl UeITRY i 7 forder oy o

(A) 32,500 (B) 3,000

(C) 33,100 (D) 23,080

131. Base of a prism of height 10 cm is square. Total

surface area of the prism is 192 sq. cm. The volume
of the prism is

10#.:ﬁ.§11émﬁm$rma?ﬁmn‘é|
Fes &1 o ge81g awer 192 a9t Jah. ¥ |
s &1 3T &

(A) 90 g3 (B) 120 )3

©) 160 ¢p3 D) 640 ¢py3

132, ABCD is a cyclic quadrilateral, AB is the diameter

of the circle. If ~ ACD = 50° , the measure of ~
BAD is

ABCD T5hrr IetoT §, AB gea e ¥ | afe £
ACD=50°%,ar . BAD FT AT &

() 50° (B) 130°
(C) 140° (D) 40°
B3.If x = s

then the value of the expression

18

X
RIESEE T P Pop,l
Ty
B A ®) 625
o ET)
© 576 (D) 24
23 5

(AT o i‘[:g_gg-)
7

A)_ 3

( )7 _?mz (B)75 icmz
!

0_ 3 S

()72 %sz ()65 Zem?
7

135, The average marks of 14 students was 71, 1t was
later found that the marks of one of the students has
been wrongly entered as 42 instead of 56 ang of

another as 74 instead of 32. What is the correct
average?

14 Taemiilt & st 3w 71 9 a1 7 7g ury
W%Wﬁ@ﬁ&%wmass%m
W42m%mm3ﬂ1wmﬁamﬁmi$

T 32 & VIR W 74 e Rear e ) st
FE?

(A) 68 (B) 67
©n (D) 69
136.

(.f- + yé)(x3 - }»5) is equal to
¢ +y5)F - vo) e R g 2

(A) 46, .1 (B) ,5_ 12
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(€) 9. .3
X ) (D) x9 -+ 3?35
137. Simplify
30.0623 M res
TR wY: ~0-0625 +70.008 +.,/5759 ey
625335
(A) 2.4 (B)o
() 1.25 D) 1
5
138. A low land, 48 m long and 31 5

|65| dm. For this,
wle, 27 m lon

of the land, Thegdag:l;:!thl g.fﬂ:: ll:;?e will b

T 48 AT o=y 3ty 315 m,wﬁ;@ﬁ
6.5 dmh%mmglmm%ﬁﬁ
% red W AT 27 A g 182 0y T
TR fdaw ¥ Samer .

ST || faaw &y TS
et gt
(A)2m (B)2.5m
(©)22m (D)3 m
139. e value of

(cos0® +sin 45° +sin 309
(sin 90° = cos 45° +cos60°%) is
(cos0* +sin 457 +sin 30%)
(sin 90° ~cos 45" +cos 60 ) FTAAY

(A) 5/4 (B) 3/4

(C) 3/2 (D) 7/4

140. A can do half of a piece of work in 1 day, whereas
B can do full. B can do half the work as C in 1 day.
The ratio of their efficiencies of work is

A el w1 @) e T # I & e g
St B U e 7 30 X F19 # T T §1 C
& UF &7 & F1d ) B Uk & & 37 Y vl
81 T4 3% 3T e o T €

(A)2:4:1 W2sled

19

(©4:2:] (D)1:2:4

141, Ifs_tan A =4, then the value of
3sin A —3cosA )
LT IEAG
sin A +2cosA s

in A—3cosA __ A%
IS tan A = Joioi o= 2 B o
anA=4%,ar o A+ 2cosA
(A) 5/6 (B) 7/9
(C) 9/14 (D) 5/14

M50 24n20-35in 6.+1=0,0 being positive U
angle, then the values of @ are ar
M 25in 20— 3sin §+1=0,0 A A TV &

OhARE
(A) 60°, 45° (B) 30°, 90°
(C) 60°, 55° (D) 45°, 50°

143. The length of two parallel chords of a circle of
radius 5 cm are 6 cm and 8 c¢m in the same side of
the centre. The distance between them is

3 om BT a1t v gear 4y & gHEiAW Shar
I B & FART 9 F 6 cm 3R & cm ¥l

ERCE PEIECiRS
(A) 1.5cm (B)3cm
(C)1cm (D)2 cm

144. Divide 27 into two parts so that § times the first and

i% -times the second together equals to 195. Then
ratio of the first and second parts is

27a$ra‘ramﬁ:’-?swmﬁwﬁaﬁ%qﬁ
mwsa;manrqa%mazrnalmm

ﬁmws%m%‘rﬂqﬁﬁl?qaimm
FTAE

(A)2:7 (B)3:2

(C)17:10 (D)5:4
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After deducting 2 commission of 5%, a T.V. sct
costs 19,595, Its marked price is

50 1 FFNUEA FIEH & A, 0@ LAY HC H
e 19,595 AEGEARIER S A
(A) 210,000 (B) 210,074.75

145,

(C) 10,100 (D) ¥12,000

hip

Ram, Rahim and Robert started a partners

16 business investing ¥30,000, ¥50,000 and 40,000
respectively. If they made an annual profit of
718.504, then the share of Rahim is

A, WF 3R TGE A swapen: ¥30,000, 50,000 AR
240,000 FT AU FF T AHER FRIAR JIRA
fram afE 37 218,504 @ arfiie oy gam,
39H WA 1 fgear g

(A) 27,170 (B) 27,510

(©) 17,7110 (D) 7,010

147. A right prism has triangular base. If v be the
number of vertices, e be the number of edges and f
be the number of faces of the prism. The value of

v+e-f
is
%

v o A &I Pfener 3R §) afg v Bea
ésahtﬁﬁm'@r e PRI 61 FEar AR f Gerenl T

(A) 10 (B) 4
©)2 (D) 5
148. 1
The sum of and is
x+y X~y
1
iR AT
x+y x-=
(A) -2y (B) 2y
Y 5 3
I’ "'y- }r‘ - x‘
€ 2x (D) 2y
. R
X -}' b —}l

A

palsc il\
cﬁln‘ i‘
In "hat b

149. A bag contains coins of 21, 5
theratio2 : 3 : 5, If the total

X228, then the number of 50
was

0 paise ang 2%
value of th,
palsc C()lns

T & A 1, 50 4 317 25 Ay

2:3,

¥ 3R % 1 AR 2 Rt o ,ﬁ:s

gmmmﬁsowmmm 4
(A) 144 (B) 124
(C) 112 (D) 96

150. If x = 2: y =1 and z = -3, 4

x3+y’+z —3xyz is equal to -

aﬁ x 2, y 1 3-1'['{ z = -3 % 4
2 +v +2° —3xz T e
(A)0 (B) 8

©)6 (D)2

20 Test Form No. 108!



PART-IV : GENERAL AWARENESg
Gmry |

151. When did India be
C
Democratic Republico °ome a fully Sovereign

(A) 26" November, 195
26 AGFER 1951

(B) 26" November, 193¢
26 FFFS 1930

(C) 26" January, 1949
26 ST=TaiY 1949

(D) 26™ November, 1949
26 FAGFaY 1949

152. The hard enamel layer of teeth is
el B O goveTeT ey aFa avely
(A) Calcium hydroxide
e gsgraes
(B) Calcium phosphate
ST wiehe
(C) Calcium oxide
HicaaH Hieaes
(D) Calcium hydroxy apatite
HTcETH g3 Wese
153. The two components of an eco-system are
iRty & & af oo Sl 82
(A) Plants and animals
gy sk sfa
(B) Biotic and abiotic
Sifae ik arsifas

(C) Plants and light
g 3R SrepTer

(D) Weeds and micro—organisms

Wadar AR AT
154. The most stable measure of central tendency is

$2er wafod & waifae R A & ©?
(A) Mean (B) Mode

AT qgD

(C) Median (D) Range
HETE o

islative
155. According to which Article, Stat€ Lae

Council can be created or abolished? aAS
T arepede & U, 5T Rt -
FT FATSA Y 5T TR &7
(A) Article 168 (B) Article 16196 :
HITOE 168 i)
(C) Article 167 (D) Article 17(;0
T 167 3o |
156. Of the following Rapesced belongs'to
R P # & Rery Gl e &7
(A) Pepper / e (B) Linseed / Ecnill
(©) Mustard / g&t (D) Coffee / FIHT
157. The resistance of an ideal voltmeter is
3T AreeReR B wrRRfRrar frae e 62
(A) infinite / 3rfifAT (B) high / 3=
(©) zero/ I (D) low / oA

158. An electronic path, that sends signals from one part
of computer to another is

W?wméa{a’tmﬁﬁmm

&l SelerTeteh T T T &ee 67
(A) Logic Gate (B) Serial Port
GIEEK AT de
(C) Modem (D) Bus
AsA T
159. Television was invented by
Tt @1 anfaser forae fomam am
(A) J.L.Baird
EACA D
(B) R.A.Millikan
T Aol
(C) Louis Braille (D) Lawrence
qE I anw
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160. Reserve Bank of India was nationalised in

RoTd e 1 ISR R e g3 AT
(A) 1949 (B) 1948
(C) 1947 (D) 1945

161. Which of the following works on the basis of
conservation of linear momentum?

ffla # ¥ =1 @F ga & g &

YR IR F FATR?
(A) Helicopter / geliaiex (B Jet/ e
(C) Rocket / (T (D) Aeroplane / fa#TT

162. In marine whales, the limbs are modified as

AR el A 39T e §9 7 I A &?
(A) Flappers / FolUX (B) Grippers / Q¥

(O) Slippers / TollaY (D) Flippers / #leTq8T

163. Penicillin was discovered by

Ao i Tret foreet hr &

(A) Louis Pasteur
SERINEN
(B) Alexander Fleming
JolFraist Tl T
(C) lan Fleming
FATH FATHIT

(D) Edward Jenner

TS S

164. A defect of vision in which the points in one plane
of an object appear in focus while those in another

plane are out of focus is called

3 Tfee SN T T P § forae fehel ger &
o R 2 R s % R Y # T g et
# forg g & TR Rewrg & 67
(A) Myopia (B) Hypermetropia
fecefse Ardefie
(C) Astigmatism (D) Distortion

Hidwghar fagtd

22

165. To whom did Allauddin Khilji entrust the p,
to conquer South?

gfRToT st Y T AR 3T Ry
- *

issicn

(A) Ulugha Khan (B) Khizra Khan
3o g e a=
(C) Malik Kafur (D) Shaji Malik
AT FR oot Afd
166. Mercury thermometer was invented by
qRE AHTHIER FT 3fashR foraey fomar o
(A) Galileo (B) Priestley
Aenforar dreeer
(C) Newton (D) Fahrenheit
e PREIST

167. Amjad Ali Khan is associated with which of e
following musical instruments?

HHAE T T Al 7 § e wig

T A WA §?
(A) Veena (B) Violin
drot arrfes
(C) Sarod (D) Sitar
e faar
168. Which of the following is observed as Sports Day
every year?
f=fafaa & ¥ e = ufaay @ Raw
HATAT ST 872
(A) 2 Octob B
ctober / 3{eFgak ( ) 26 July / S[eS
(O 22 April / 3T (D) 29 August / 3FTET

169. The Earth is nearest to the Sun on

forer foret gt {3 & wady e gl &2
(A) 3 January / STy (B) 23 September / fidet

(©) 21 March / ARY (D) 4 July / e

170. A sufficiently large scale map indicating the
detailed surface features of an area including relief
is called
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Relief map

T AATAT
Chorographical map
OECHCIR: CiES

Topographical map
Aanfors A=
Wall map

&fca aarE

©

D)

171. Vitamin which provides immunity
i 11 e uitme TN T &2
(A) K (B)C

OA (D)E

172. Which of the following is the best i
pollution?

ndicator of SO,
fFefla & & F S0, wewor & wetem
S

(A) Pteridophyte

(B) Algae Syarer
(AL D o
(©) Lichen drEehe (D) Bryophyte stz
173. Respiration is controlled by part of brain.

qa &1 foaaer #feass & fFg o & T
ST &7
(A) Medulla Oblongata
(B) Olfactory Lobes
grroT arfer
(C) Cerebellum
AR

]

(D) Hypothalamus
AR

174. The Great Bath was found at .
famTel TRTR (31 &Te) &l f#el AT?

(A) Mohenjodaro (B) Chanhudaro
AgAsies

(C) Lothal (D) Harapp2
e
. v and
" ro
175. Who was the first to use the term B
"Macro" in Economics in 19337 P 1A

1933 3% 3rfemes 3 A AN
T 9T FEwHH RRaey R Am?

(A) Ragnar Frisch / AR fresh
(B) James Tobin / 3r#=g AT

IE4
(©) Gurly / areft (D) 1. Fischer / 375 T3
of
176. Which country eamed the title "The Queent
Seas"? a7
R T o g e oy 3 I
(A) 1taly / 5Ty (B) France / &
(©) Germany / ST+ (D) Britain / &

. 'n
177. Which of the following species is Jocally extinct !
India?

R % % w4 < sy TR & BRI
T R e 1 915 17
(A) Siberian Crane
s aR|
(B) The Gyps vulture
forew T
(C) Forest Owlet
SHTEN Seferh
(D) White Bellied Heron
i e A oY

178. Aggregate Monetary Resources is
Tl Alfes qame= FA18?
(A) M2

(B) M4

(C) M1 (D) M3

179. India's 1 * Hi-Speed Rural Broadband Networl
been commissioned in a district of

R T T FT5-TNE AT iedz Seas:
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TS & FHY 3 = Rvar s
(A) Andhra Pradesh / 3rjer rals

(B) Kamataka/ Faitess

(©) Telangana / YeieT&aAT (D) Kerala / 7
180. Centre for Ecological Sciences is situated at
iR ferferehr faramer S angi feerg 2
(A) Bengaluru / §3Te% () Allahabad / sereraTe;
(C) Karnal / AT (D) New Delhi / =&
ey
181. When is Human Rights Day celebrated?
AAAITOSR s Fa Hearr s §2
(A) 9" Dec. (B) 10" Oct.
9 fewsx 10 3/Fge
(C) 12™ Dec. (D) 10" Dec.
12 fedeX 10 fgEs}

182. The last dynasty of the Delhi Sultanate was the

el HewTater T 3ifdyer drer arar o
(A) Lodi dynasty (B) Slave dynasty
RICUEK] T dR
(C) Syed dynasty (D) Khilji dynasty
dge aer ferorsfy gar
183. What is Hawala?
aTelT T 7
(A) Full details of a subject
e ferear a7 qof faramor
(B) Tax evasion
F-dgT
(C) lllegal trading of shares
AR FT 373 gTaR
(D) lllegal transactions of foreign exchange
faceh a1 a1 srder AR

184. The first National Park of India is

I BT IUH I I e AT 2
(A) Corbett National Park

24

FTfe SR ITh

(B) Simlipal National Park
Ry A AT

(C) Dachigam Wild Life Sanctuary
1A T SN IPTERTA

(D) Hazaribagh National Park

FARIGTT AR TTeh

185. Breath analysers used by police' to test drunkey,
drivers works on the chemical basis of

QR e TSN TelleY Tt FISaRt Y AT oy 3
for e art wgFd e faews Ry
AT TR 9K 1 AT 82 )

(A) Precipitation reactions / 3/g&YqoT AR fRar

(B) Complexation reactions / HeheteT JTeITsRar

(©) Acid-base reactions / 37FT—&TR 31T AfRar

(D) Redox reactions / Yeiaq 1A THaT

186. The World Environment Day is celebrated on

e iaRoT Raw v e Fevmar star 2

(A) June 16/ 16 =7 (B) June 5/ 5 51

©) April 7/7 3 (D) August 6 / 6 3Ty

187. Who was the first Delhi Sultan to break the power
of the Turkish nobles known as the Chahalgani or
the Forty?

TEHTAT AT BT & §9 F [z el awat 6y
amﬁmmmmﬁﬁﬁwm
q1?

(A) Iltutmish
goqareer

(B) Qutb-ud—din Aibak
HITEIT Uah

2 99
(C) Raziya
o

(D) Balban
CECo)

188. There are only two metals that are non-silver in
colour, they are

& AT T e ¥ it Ryt o w78 e
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(A) Nickel & Zinc

e 3k i
Palladium & Platinum
YafeEs AR s
Cgpper & Gold

areT 3R e
Sodium & Magnesium

T 3R AredfRrgs

189. The system in whic
known as

(B)
©

(D)

h the few govern many is
mm#@mmmﬁmmmaﬂ.
(A) Plutocracy / eifray (B) Autocracy / Tagy

(©) Oligarchy / 3reqgy (D) Monarchy / ey

190. The lowest temperature is recorded by
Pt ausEe Reas IR AT ST 82
(A) Maximum reading thermometer
A= yo Ty
(B)

Minimum reading thermometer
o=Tas yoa wHTERex
Mercurial thermometer
IRE-LHHEY

Alcohol thermometer

TodhRid UATAR

©

(D)

191. ICMP is used for
ICMP &r yer frafae fmar srar ?
(A) Multicasting
HocIhIeeaT

(B) Forwarding
cars
(C) Error reporting
R faiféar
(D) Addressing

wgfdia

192. Who is the founder of Homeopathy?
Sl & T Hiel &7
(A) Lainnec (B) Wakesman

Goch Eieasn]
(C) Domagk (D) Hahneman®
Bl

‘ ’ £ ozon®
193. Which gas is responsible for depletion © _ ful

layer around earth which protect us fro™
ultra-violet rays?

TR SRrdreh ot 2 T ey AT 3@:
TR 3 g e e 3 E A A
Wy
(A) Oxygen
Herdrster
(C) Nitrogen oxide
SIS HFess
(D) Chlorofluro carbons

Pl Tt

(B) Nitrogen

wa Brief
194. Which scientist wrote a book called &

History of Time"?
"T A% BEY HE A" AHE
Fanfae = o
(A) Stephen Hawking / TG gifehdl
(B) J.L.Baird/ .U 3T

qead

(€) Edward Jenner / U292 S

(D) Pasteur / qrETx

195. Who was the first Deputy Prime Minister of India?
HRA & YUH IT-TUHA HieA A?

(A) Sardar Vallabhbhai Patel
FER dease s ued

(B) Gulzarilal Nanda
LEEREIE R

(C) Maulana Abul Kalam Azad
FTT el FeATH TS

(D) Jawaharlal Nehru
AT g ®

196. A plane glass slab is kept over coloured letters, the
letter which appears least raised is

T N 3R TR FHA el o T S g,

25 Test Form No. 1089653



o apleT T HETT 5 30T g3 g & &7
(A) Red / ATt (B) Blue / sfrer
(C) violet | el (D) Green / g1
197. Where is Brabourne Stadium located?
qraley RF3TH FEl R 67
(A) Jamshedpur (B) Kolkata
AT IR
©) Mumbai (D) Cuttack
chch

198. Which is the final Appellate Court of Justice?
siforer 3R S TTer i |1 87

(A) District Court
Sl ATl

(B) High Court
I AT

(©) Civil Court
rafaa =

(D) Supreme Court
FIdH AT

199. Which of the following regulates the working of
share market in India?

R & IR FAR 1 FRGUM HT AT
FrAfaf@d # § FlaT Farg?
(A) MRTP Act
A IRALL sfefaga
(B) SEBI
adr
(C) BIFR (D) FERA
1. 371505 3. T
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200, Mass number is the sum of

AT TEaT foraeT e &7
(A) Electrons and neutrons
NV —
(B) Protons and neutrons

sheier 31k gt

6)1uy

Yvye, |67 6
(C) Only protons (Jq’q")q
Y 2 L) !
e Ll oh
(D) Electrons and protons . b,'\ 1

ys6 | AN
z 449
r/l(’/glrlgé/6 ¢ qull\G

. g7, st
l/\"‘/ C"/ IQ ) T ) q )6—6
\ 6
3/‘5/7/51/” ’ﬁfé LT
b
—
7f‘¢f" < ,Sg’l
Fc&riasyidka ¢ 3% (
\ > et
Y ¢ 12 16 20 2Y 3*3:2 e
?23}‘ G {‘?«Sml" =
2= "M
F !l =5
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